YpaBHEHUS

1. Haiinure HaVMEHbUINI HOJOXKHUTENbHbIH KOpPEHb
2sin’x+cosx+1 = 0.
3 n 3
)0 2)m 3) m —arccos = 4) - 5) arccos -
2 2 2
2. Haiigute HaMMEHbLINI HOJIOXKHUTENIbHbIH KOpPEHb YPaBHEHUS
4cos?x —sinx+1=0.
3n 7T 5 5
1) 5 2) 5 3)0 4) arcsin 1 5) m— arcsin 1
3. Haiigure HaUMEHBIINH MOJIO’KUTENbHBIN KOpPEHb ypaBHEHHUS
3cos?x+2sinx+2=0.
5 7T 5 3n
1) arcsin = 2) = 3) m—arcsin = 4) — 5w
yaresiny  2) 7 3) )
4. Haiinure HaUMEHBIINN MOJIOXKUTENbHBIN KOpPEHb ypaBHEHHUS
3sin’x4cosx+1=0.
b 4 3n 4
1 2) = 3) m— arccos = 4) — 5) arccos =
L R 3 959 arccosg
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